

✓

$$F_s\{f\} = \sqrt{\frac{r}{\pi}} \int_0^1 \sin wx \, dx = \frac{1}{w} \sqrt{\frac{r}{\pi}} [\cos wx]_0^1$$

$$= \sqrt{\frac{r}{\pi}} \frac{1 - \cos w}{w}$$

$$F_c\{f\} = \sqrt{\frac{r}{\pi}} \int_0^\infty e^{-ax} \cos wx \, dx = \sqrt{\frac{r}{\pi}} \frac{e^{-ax}}{a^2 + w^2} \left($$

$$-a \cos wx + w \sin wx \Big|_0^\infty = \sqrt{\frac{r}{\pi}} \frac{a}{a^2 + w^2}$$

$$F_s\{f\} = \sqrt{\frac{r}{\pi}} \int_0^\infty e^{-ax} \sin wx \, dx = \sqrt{\frac{r}{\pi}} \times \frac{e^{-ax}}{a^2 + w^2} \left($$

$$-a \sin wx - w \cos wx \Big|_0^\infty = \sqrt{\frac{r}{\pi}} \left(0 - \frac{1}{a^2 + w^2} (0 - w) \right)$$

$$= \sqrt{\frac{r}{\pi}} \left(\frac{w}{a^2 + w^2} \right)$$

$$\sqrt{r\pi} F\{f\} = \int_{-w}^w f(x) e^{-iwx} \, dx = \int_{-1}^1 (1-x^r) e^{-iwx} \, dx$$

$$\Rightarrow \sqrt{r\pi} F\{f\} = \left[\left(-\frac{1}{iw} (1-x^r) + \frac{rx}{(iw)^r} + \frac{r}{(iw)^{r+1}} \right) e^{-iwx} \right]_{-1}^1$$

$$= \left(\frac{r}{(iw)^r} + \frac{r}{(iw)^{r+1}} \right) e^{-iw} - \left(\frac{r}{(iw)^r} - \frac{r}{(iw)^{r+1}} \right) e^{iw} = \frac{r}{(iw)^r} \left(e^{-iw}$$

$$+ e^{iw} \right) - \frac{r}{(iw)^{r+1}} (e^{iw} - e^{-iw}) = \frac{1}{(iw)^r} \cos w - \frac{1}{(iw)^{r+1}} i \sin w$$

$$= -\frac{\cos w}{w^r} + \frac{1}{w^r} \sin w$$